6 % REIR, HHIsK

1] moEhzho@sRbL.

a) 272 = —

L%—
b) (-4°= |
) ()%= -

'

d) 0.12= |0

ROWEBBICEEL. 12120, a>0, b>0&ET3.

a) a?xa’= (:[5
b) a® +a3 = ﬁt’g
9 @)= A4

-3,3
d) @ H3= @ b

RO EBBICE L.
a) ¥/-64= — Y

b) ¥=0001= — 0,/
o V2¥8= D

d) Y00Ix0T= 0 |
e) ¥375+ =%

f) V255= |25

g) W: 2

(4] RORFRESBMIEMERVTEE. 1150, 2> 0 ET3.

) Ya= Q3
.
b (Wa= 4°
s
o) Va5= QA+
3
d ke q *

2019%6878

L3
?

ﬁﬂ & B B U
[ . [ £E8
(5] RO EBEICHE L.

0 (172 g% - 27

eSS
1 B

—_

b) (2—-2)1.5 - 2-_; = 7};

3
C) (9?)1%: 9; :2//7

2

"3 22L - L
d) 2773 x9t = (32) 3)‘(3) =32".3 -3

J]
ol

1
22

4 i -4
e 4t xshxgt= (92)24(23)«(27)?

(6] RORFEREHBIERERNTEYE. 1o L.a>0 b>0¢&
g3,

a) (a%a‘l)“: @Aa_?: 4&

A
- alL

+

*'\
w| N

b) ai +a%= ﬂ,

=
3

T
o (Bah)¥xal = (23)2 ~(Q%)3x 03 - ¢

O —
d ©adbi= 42 43,7 =373 )

—

@ @hHisai= 2 .0 2% =@

Vi

ROKFMRZHBISBERBNTERY. 12720, a > 0, b > 0 &
g3.

a) @f-ad2= @ -—> ! =Q-9 ++

N
b) @ -ah@i+irah= A+ —A"3 —Q

"
a’; - a-a" =0v;é

-
3

) @-B+@-bh= ((23) —(b3))~(a3_47)

- L z
= QR3 +a3b3 + )2





